Question No : 1 of 26

Marks: 1 (Budgeted Time 1 Min)

=

}

Constder the following code segment. What will be the output of following code?

it addValue (int *a){
intb = (*a) + 2,
return b

F

Answer (| Please select your correct option )

I

6,8,6

v

6,6,8

6,8,8

6,6,6
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Question Mo : 1 of 26

Marks: 1 (Budgeted Time 1 Min)

=

main () |

mt =6 ;

cout =< xa=""

cout =< addValue(&x) =<7 ;

cout =< ®

}

F

Answer (| Please select your correct option )

6,8,6

: v

6,6,8

6,8,8

6,6,6
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Question No : 2 of 26

Marks: 1 (Budgeted Time 1 Min)

=

Here the code 18 given below. ¥ ou have to identifiy the problem i the code.

while{ (i < 100 && (i = 24))

=

Answer (| Please select your correct option )

I

the logical operator && cannot be used in a test condition

the while loop 15 an exit-condition loop

the test condition 15 always true

the test condition 15 always false
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Question Mo : 3 of 26 Marks: 1 (Budgeted Time 1 Min) (=

The correct syntas of do-while loop 13 . =

Answer (| Please select your correct option )

(condition ) while; do { staternents; };
P

[ statements; } do-while (),

while{condiion), do { statements; };

do { statements; } while (condition);
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Question No : 4 of 26 Marks: 1 (Budgeted Time 1 Min) (=

Ilatriss 12 defined as . il

Answer (| Please select your correct option )

single dirmensional array
P

lulti- ditnensional array

: v

WVector product

Sralar product
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Question Mo : 5 of 26

Marks: 1 (Budgeted Time 1 Min)

=

In programming, cotnments are used to explan the fonctiotng of the

=

Answer (| Please select your correct option )

Debugger
P

Editor

Program

; v

Linlcer
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Question Mo : 6 of 26 Marks: 1 (Budgeted Time 1 Min) (=

Operating Systern 15 a type of afan . =1

Answer (| Please select your correct option )

application software
P

systetn software

: vd

computer language

nterpreter
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Question Mo : 7 of 26

Marks: 1 (Budgeted Time 1 Min)

=

From the options given, you need to choose the option which 13 true for the given code.

for finti=1,1> 0, ) {
*loop code *f

}

=

Answer (| Please select your correct option )

the logical operator &8 cannot be used in a test condition
P

the while loop 15 an exit-condition loop

the test condition 15 always false

the test condition 15 always true
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Question No : § of 26

Marks: 1 (Budgeted Time 1 Min)

=

WWhich of the following values are used i CACH to represent true and false?

=

Answer (| Please select your correct option )

I

1and 0 \/

1and -1

11 and 00

Any numernical value
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Question No : 9 of 26

Marks: 1 (Budgeted Time 1 Min)

=

'while' loop tnay execute of tnore tirnes.

=

Answer (| Please select your correct option )

three
f"

EZETO

& v

e
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Question Mo : 10 of 26 Marks: 1 (Budgeted Time 1 Min) =

Body of any function 1= enclosed within ; =
[ |
Answer (| Please select your correct option )
£l
2 v~
()
r-
[]
r-
i
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Question Mo : 11 of 26 Marks: 1 (Budgeted Time 1 Min) (=

What will be the correct syntas for wutialization of a potter ptr with sthing “programming” =

Answer (| Please select your correct option )

char ptr = "programming |
P

char *ptr = “programiming |
e /

char *ptr = "programming’ |

*otr = “programming’” ;
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Question No : 12 of 26 Marks: 1 (Budgeted Time 1 Min) (=

Which one of the given option 15 not a mode for readingfariting the data from a file? =

Answer (| Please select your correct option )

i1
r.

out

tranc

get
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Question Mo : 13 of 26

Marks: 1 (Budgeted Time 1 Min)

=

mode allows us to add data of change data anywhere in the file.

=

Answer (| Please select your correct option )

108 ate

: v

iossapp

o binary

1osedd
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Question Mo : 14 of 26

Marks: 1 (Budgeted Time 1 Min)

=

In CICH, are the doors through which data can enter and come out of a program.

=

Answer (| Please select your correct option )

I

strearns

v’

Fields

Wariahles

Header files
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Question Mo : 15 of 26

Marks: 1 (Budgeted Time 1 Min)

=

A1 structure elements are by default. =
Answer (| Please select your correct option )
Public
-
Protected
r-l

Private
c o

Fublic and Private
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Question Mo : 16 of 26

Marks: 1 (Budgeted Time 1 Min)

=

The function write() takes as parameter(s).

=

Answer (| Please select your correct option )

String of pointer type
f"

String of wariable lengths, no. of bytes to be read and flags

Pointer atray of characters and a delimiter

String and no. of bytes to be written
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Question Mo : 17 of 26

Marks: 1 (Budgeted Time 1 Min)

=

Cotnputers can do what we tell them to do.

=

Answer (| Please select your correct option )

Idore than
P

Less than

Ezxactly

’ v

Sirmilar
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Question Mo : 18 of 26

Marks: 1 (Budgeted Time 1 Min)

=

“When the logical operator AND (&&) combines two expressions expl and exp? then the result will be true only

=

Answer (| Please select your correct option )

When both expl and exp? are true

: v’

When both expl and exp? are falze

When expl 15 true and exp? 15 falze

When expl 15 false and exp2 15 true
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Question Mo : 19 of 26 Marks: 1 (Budgeted Time 1 Min) (=

Iull character 15 used to indicate the of string. =

Answer (| Please select your correct option )

Start
P

End

v

Eedgin

Middle
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Question Mo : 20 of 26

Marks: 1 (Budgeted Time 1 Min)

=

Base address 15 the memory address of element of an array. =
=
Answer (| Please select your correct option )
1st
e /
2nd
r-l
3rd
r-
dth
-~
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Question No : 21 of 26 Marks: 2 (Budgeted Time 4 Min) (=]

What happens if the file 'myfile ' does not exst and we still try to open it using the function fle open(™myfile td”, 10s0ut)? =

Answer (| Please click here to Add Answer )
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Question No : 22 of 26 Marks: 2 (Budgeted Time 4 Min) (=]

FY

Write down the output of the following code segment?

int x[10]={0,1,2,3,4,5,06, 7,8, 9};
int *xptr;

xptr = &x[5];

cout == *{xpir++) + 1;

Answer (| Please click here to Add Answer )
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Question No : 23 of 26 Marks: 3 (Budgeted Time 6 Min) =]

suppose f we want to store values ke 10,453 4, A D, 6. 4, and 50 by using array. Can we store all these elements by declaning a single array? Yes of no ¥ (ive reason to suppott your answer. =

Answer (| Please click here to Add Answer )
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Question No : 24 of 26 Marks: 3 (Budgeted Time 6 Min) =]

Write the code for the declaration of a function named gethlax which takes a 2D array of integers{3x3 dimension) as its parameter and returns a double pointer to an integer. =

Answer (| Please click here to Add Answer )
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Marks: 5 (Budgeted Time 10 Min) =]

Question No : 25 of 26
Write a C/CH program which defines an array of 15 characters and fills the array with string "1 2players2teams". Then using character handling functions, counts the number of digits and alphabets in the

string and displays on the screen.
Sample output of program:

Mumnber of digits in string 3

Answer (| Please click here to Add Answer )
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Question Mo : 25 of 26 Marks: 5 (Budgeted Time 10 Min) =]

WYTILE | AT PTUET AT WINKIL B ATIES 911 JITd)y UL L2 CIIEHTAULET S AT 1S WIE JIT )y WWILIL ST LARIEY ET SALEETILE . L IIETL WSITLE CIET dULET IIETIANTIY LLTLCLIUTLE, WULILILS LR TINTIOET UL DZ1LE |l dipnduels 0l Lle Es
string and displays on the screen.

Sample output of prograrm:

Mumber of digits in string: 3

Mumber of alphabets i string: 12 =

Answer (| Please click here to Add Answer )
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Question Mo : 26 of 26 Marks: 5 (Budgeted Time 10 Min) =]

F .

Wirite a code segment that displays the diagonal elements of a matrtr of Tzl
where M can be any number and represents dimensions of matris.

Answer (| Please click here to Add Answer )
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